
Mrs. Volynskaya  AP Calculus Test 1 – PreCalculus Review Topic   Name__________
SHOW ALL WORK for a full credit!!!!  NO Calculator for this Test.

                                GOOD LUCK!!! Get an “A+”!!!
1.  Factor: 
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3.      Find   Domain        

a)                           
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4.  Solve each equation     
a)  
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[image: image6.wmf]2

0

e

5

x

=

1

0

                                                                                       4b___________

5. Write an equation for the linear function whose graph is shown:  5___________
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6.  Find the inverse of the function 
[image: image8.wmf]()1

fxx

=+

                               
                                                                                               6______________
7. Refer to the graph of f below:

a. What is the domain of f?   ____________________________
b. Approximate the zeros of f____________________________________
c. Over what intervals is f increasing? decreasing?_____________________
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8.  State that the function is odd, even, or neither:SHOW WHY
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9. Evaluate the logarithms
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10. Solve for x :  
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11.  Match each of the graphs with a function from the list
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